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1. Find (a)limiffl (b) ﬁml/-%:-%

x=30 x x4 x -4
: d ., d )
2. Find (@)—(2x" +cosx+3) (b) —exp(x’)
dx dx

3. Find the equation of the tangent line ({J48) to x’ +y' =6xy at (3,3)
Let /(x) = x* —4x’. Find all possible( 5] §£AY) relative extreme points(4H¥#85x%L), and inflection

points(J7 g Bh), and plot the graph(ZE &)
: 1 x : 2 5
5. Find (a)j[—+3 +cosx)dx (b) J xe" dx
X 0

6. Find f,,f, and the gradient(ff/%) vector of f(x,y) =x" +x’y’ -2y’

Finddz/dsifz=e"siny, x=st>,y = s't.
8. Use Lagrange multiplier to find the extreme value(#{H) of f(x,y)=3x+4yonx’ +y> =1.

Gx)’
n

9.  Find the interval of convergence(lf IR of N (~1)"
n=1

10. Reverse(Z§#) integration order(ZX[3) to evaluate J':_I‘zfzexp( ¥ )dydx.
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